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Class-III Half Yearly Question – 1 
                        Full Mark : 50 

Objective Questions         [1X16=16]  

1. Write the smallest 4-digit number using the digits 4, 9, 0, 1. 

2. If you add 321 to me, I will become 600. Who am I?  

3. 847 + 863 + 162 = 162 + 847 + _____ 

4. 5 tens + 6 ones = _____ tens + 16 ones 

5. Which is correct: 

   

a) 3 – 4        b) 3 X 4 

c) 3 + 4        d) 3 ÷ 4       

6. _____ ÷ 72 = 1. 

7. 72 = 9 × 7 + _____. 

8. The difference between successor and predecessor of any number is equal to ______.  
9. 8, 16, 24, 32, _____. 

10. If 10 is added 10 times, then the sum is ________. 

11. The number of cycle present in a store is one more than the lowest 4-digit number. How many cycles 
are there? 

12. Observe the pattern and fill in the blanks. 

  

 

13. The sum of odd and even number is ________. 
14. 5000 + ____ = 5000 
15. 7240 p = Rs. ________. 

16. How many 50 paisa coins can be changed for one 5 rupee coin. 
 

Subjective Questions.                                   [3X6=18] 

17. What comes next. 

a) Z26, Y25, X24, W23, V22, _____. 

b) 211, 215, 219, _____. 
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c) 390, 370, 350, 330, _____.   

18. Simplify: 989 – 215 + 1265. 

19. Find the product of 2124 × 2 × 4. Write the number in sentence. 

20. What is the product of 928 and 24. 

21. Divide: Rs. 485.10 ÷ 9 

22. A motor bike company manufactured four different models of bikes. Their sales are recorded as 
below: 

Model No. of bike sold 
A 4689 
B 2896 
C 3998 
D 8745 

 
a) Which is the highest selling model? 
b) Arrange the number of bikes sold in ascending order. 
c) Which of the model of the bike has 7 at hundred place?  
 
Word Problems          [4X4=16] 

23. In a train there are 2345 seats. How many passengers can travel in 15 such trains having equal 
number of seats?  

24. A shopkeeper has 4840 eggs. He put 8 eggs in each crate. How many crates are needed and how 
many eggs will remain? 

25. Aryan bought toy car for Rs. 60.75, a badminton racquet for Rs. 225.50 from the store. How 
much money did he spend in all? If he gave Rs. 500 note to the shopkeeper, what amount will 
he get back? 
26. Julie had Rs. 896 with her. Her father gave her Rs. 530 and her mother have her Rs. 250. She gave 
Rs. 75 to her brother. How much money she had now?  
 

 

 

 

 


